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The above phase diagram shows the phase relations of the

system Fe0-Al,0 Study this

273
dlagram carefully and answer the following questions:

-SiO2 at atmospheric pressure.

1) What temperature is the upper limit of stability of
iron cordierite? To what phases does iron cordierite
decompose above this temperature?

2) Consider a very homogeneous and‘very fine-grained mix-

ture of 0.7 grams of fayalite and 0.3 grams of corundum.
If it is heated at atmospheric pressure very slowly,
so that equilibrium is always maintained during the

course of heating. Assume that the partial pressure
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of oxygen during the course of heating is strictly con-
trolled, so that iron remains in its ferrous (divalent)
state during the course of heating. At what temperature
does this mixture start to melt? and at what. temperature
does it melt completely? What phases are present in
this mixture at 1000°c, 1200°C, and 1400°C respectively?

3) At what temperature does tridymite transform to cristo-
lite?

4) There is a primary field of two liquids in this system.
What does the term "two liquids" mean?

UOZ) II. Construct an isothermal section at 1250°C to show the phase

relation of the system diopside-albite-anorthite at 1250°c.

{Diopside)
Co0-Mg0-2Si0,
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